PRODUCT INFORMATION
LEX CABINET
82057404

®0 F

&)







@x1

Left Panel Right Panel
[ ’
[
B x1 B x 1
Back Panel Assy left D
I
N
\\

i




(H5)
JF Screw @8 x 12mm
4 pcs

g

(H1)
Minifix Housing
14 pcs

(H4)
JCBC M6 x 35mm
6 pcs

@)D))))))))\)))))))))))))))))\))\))

(H2) (H3)

Minifix Bolt Dowel

14 pcs 8 x 30
12 pcs

sy =

(H5) (H6)
JF Screw @8 x 12mm Allen Key M4
4 pcs 1 pc

s




@)h))))))\\)))))))))\\\)))))))\\\))

JCBC M6x35

(H4)
2 pcs




(H3)

(H2)

JCBC M6x35

(H4)
4 pcs

Dowel

Minifix Bolt
7 pcs

@8 x 30
6 pcs

@)h))\\)))))\\))\)))))\\))\\))))\\\

===

EI=== \\)



owe
X
cs
===







	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

